PRZEKROJE POPRZECZNE
SKALA 1:100

Puyion = 2,48 m*

km 2+650 Puspn = 0,30 m?
13235 Liuns = 6,00 m

_— Li  =500m

L. =460m

Puykon = 0,53 m?
km 2+729 Puaom = 0,11 m?
13149 Lims =3,50 m

‘—a_ L =500m
Le =150m

Puytom = 0,10 m?

km 2+781 Pusm = 0,71 m?
13145 Lims =4,60 m
L = 5,00 m

‘ L =260m

Pugion =2,33 m?
km 2+824 Puusen = 0,00 m?
131,65 Liwms =5,50 m

e L =500m
EFLT\‘%—/ L. =480m

Puytom = 0,22 m?
km 2+889 Py = 0,14 m?
13196 Lims =4,60 m

B e — Lo =500m
— ‘ == L =310m

Pustenn = 0,11 m?

km 2+910 Pusym = 0,84 m?
13215 Lims =4,70 m

Ls = 5,00 m

L: =3,00m

Puyion = 3,89 m?

km 2+931,41 Pusee = 0,00 m?
13234 Liwms = 5,00 m

L =500m

L. =650m

Objasnienie:

Puskom - pole wykopu

Puasyps - pole nasypu

Liums - dlugos¢ zdjgcia warstwy humusu
L: - dlugos¢ warstwy $cieralnej

Lo - dlugos¢ skarp



